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Summer Vacation Holiday Home Work (2025 - 26)
Class -V

Y

Multiple Choice Questions (MCQ) are typically answered by marking
the correct option on an OMR (Optical Mark Recognition) sheet.

To correctly fill out an OMR sheet, students should use a blue or black ballpoint pen, completely
darkening the circles corresponding to their chosen answers. They should avoid folding, crinkling, or
tearing the sheet, and refrain from using erasers or correction fluids.
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Mathematics

. What is the place value of 7 in the number 97,54,36,128?

A) 7 crores B) 70 lakhs C) 7 lakhs D) 7 crores

. Which of the following is the correct number name for 45,00,00,000?

A) Forty-five lakhs B) Four crore fifty lakhs C) Forty-five crores D) Four hundred fifty lakhs

. What comes just after 99,99,99,999?

A) 1,00,00,00,000 B) 99,99,99,998 C) 1,00,00,000 D) 10,00,00,000

. How many zeros are there in one crore?

A)5 B) 6 C) D) 8

. Which is the smallest 9-digit number?

A) 10,00,00,000 B) 1,00,00,000 C) 10,00,000 D) 1,00,00,00,0

. What is the face value of 9 in the number 89,67,45,321?

A) 90,00,00,000 B) 9 C) 9 crores D) 9 millions

. What is the expanded form of 54,30,20,100?

A) 50,00,00,000 + 4,00,00,000 + 30,00,000 + 20,000 + 100
B) 50,00,00,000 + 4,00,00,000 + 30,00,000 + 20,000 + 1
C) 50,00,00,000 + 4,00,00,000 + 30,000 + 20,00,000 + 100
D) 50,00,00,000 + 40,00,000 + 30,00,000 + 20,000 + 100

. How is 88,00,00,000 read in the Indian number system?

A) Eighty-eight thousand

B) Eighty-eight crores

C) Eighty crore eight lakhs

D) Eight hundred eighty crores

. What is the number name of 90,60,00,000?

A) Ninety crores sixty lakhs
B) Ninety-six crores

C) Ninety crore six lakh

D) Nine crore sixty lakhs

Which number has 9 digits?

A) 10,00,000 B) 1,00,00,000 C) 10,00,00,000 D) 1,00,00,00,000
What is the place value of 5 in 95,87,46,321?

A. 50,00,000 B. 5,00,00,000 C. 5,000 D.5
What comes after 99,99,99,999?

A. 1,00,00,00,000 B. 1,00,00,000 C. 99,99,99,998D. 10,00,00,00,000
Which of the following is the greatest?

A. 87,00,00,000B. 65,00,00,000 C. 99,00,000 D. 7,99,99,999

How is 99,99,99,999 written in words?
A. Ninety-nine crore ninety-nine lakh ninety-nine thousand nine hundred ninety-nine
B. Ninety-nine lakh ninety-nine thousand nine hundred ninety-nine
C. Ninety-nine crore nine lakh ninety-nine thousand nine hundred ninety-nine
D. Ninety crore ninety lakh ninety-nine thousand nine hundred ninety-nine

Which digit is in the crore place in 98,76,54,321?
A.9 B.8 C.7 D. 6
Science
The smallest bone in our body is the
a. neckbone b. joints c.stirrup d. cartilage
2.The backbone is connected to the --
a.skull b.lungs c.forelimb d.spine.
4.A disease that causes joint Pain and swelling is
a. Scurvy b.beri-beri c.arthritis d.anaemia
The largest sense organ of our body is -
a.nose b.ear c.skin d.eye

6.

Light enters the eyes through the --
a.pupil b.cornea c.retina d.iris.




7 which of these plants has.only one cotyledon?
a. gram b.pea c.wheat d.bean

8.The small baby plant , coming out of a seed is known as the --

a. grain b. stomata c.root d. seedling.
9.The pigment present in green leaves of a plant

a.chlorophyll b.chromosome c.chromoplast d.corolla
10.The function of a seedcoat is

a. Provide food b.allows water to enter inside

c.provide food for the baby plant d.protects the baby plant.
11. A healthy birch tree can produce up to ------ seeds a year.

a. a. Two million b.3 million c.one million d.4 million
12. Plants reproduce their own kind in------- ways

a.one b.two c.three d.four
13.Carbondioxide is taken from air through ---

a.stem b. branch c. seed d. stomata
14. A type of reproduction without seeds ---

a dispersal b. cracking c. bursting d. vegetative reproduction

15 The seeds dispers through wind are ----
a.madar,thistle,dandelion
b rose,ginger ,grapes
c.sugarcane, potato, rose
d.sweet potato,dahlia, lotus

English

Read the following question and choose the correct answer:-
Choose the correct meaning for the following:-
1. To feel confused and ashamed

a) giggle b) embarrassed c) foolish d) ignored
2. Sworn enemies

a) people who can never be friends

b) disturbing

c) screamed

d) scratching
3. Crying in pain

a) shouting b) yelling c) crying d) moaning
4. Excitedly

a) extremely b) calmly c) eagerly d) serenely
Choose the correct answer:-
5. The dental instrument the Aunt Polly used were

a) mouth mirror and scalar

b) dental drill

c) Excavator

d) Silk thread and a chunk of fire
6. How are Mani and Rajam related?

a) allies b) supporters c) companions d) shorn enemies
7. Who picked Swaminathan and his friends a part?

a) Tamil Teaches

b) Headmaster and the peon

¢) Mani and somu

d) Guard and Headmaster
8. Which is the feminine gender of monk

a) bride b) princess c) nun d) mistress
9. The abstract noun for courage

a) couragely b) courageness c) couragety d) courageous
10. Which of the following is uncountable noun?

a) tooth b) packets of oil c) suffering d) drops of water
11. Iwould be fullof ..................... if I failed in Maths :

a) sorrow b) excited c) suffering d) attention
12. We use Deperminers’ for newspaper is.

a) a little b) some c) a lot of d) several
13. There is a little milk left in the glass. (Choose the determiner word)

a) left b) is c) a little d) there
14. My brother has just bought / Laptop. (Omit slash ( / ) write a word to complete it)

a) the b) an c) a d) some
15. You can wear .................. the red frock or the yellow one. (Complete the sentence with correct word)

a) any b) all c) either d) some




Social Science

1. is related to milk.

a)Green revolution b)White revolution c)Blue revolution d)Yellow revolution
2.The civic and moral values are called

a)Enhancer b)Sanskar c)Planners d)Banner
3. is known as the father of Green Revolution in India.

a)MS Swaminathan b)R S Swaminathan c)P S Swaminathan d)J S Swaminathan
4.Community life promotes a feeling of

a)Cleverness b)Generous c)Effortless d)Togetherness
5.Depending on one another is called

a)Ascendance b)Attendance c)Dependence d)Interdependence
6.India is mainly land of

a)Villages b)Towns c)Cities d)States
7. makes us a good human being.

a)Dedication b)Education c)Reputation d)Imagination
8.The family is also called our school.

a)First b)Primary c)Secondary d)Jewellery
9.1t is very essential to keep the environment .

a)Light and bright b)Clean and green c)Dry and wet d)Hot and cold
10.Education makes us a good :

a)Well being b)Human being c)Fleeing d)Skiing
11.Which if these is human made resources?

a)Forest b)Building c)River d)Mountain
12.The earth is divided into how many continents?

a)S b)6 )7 d)8
13.The currency of Japan is.........

a)Yen b)Dollar c)Rupee d)Euro

14.Which of these is a renewable resource

a)Coal b)Oil c)Solar energy d)Natural gas
15.Which city is known as “Pink City”?

a)Jaipur b)Jaisalmer c)Udaipur d)Jodhpur
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